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So the SLE has a solution and solution is unique
Efficientprocedure to solve an SE Gesmeedelimination row

An SLE can be summarizedbycoefficient matrix Avector b ofRMS numbers
augmentedmatrix A b
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so the unique solution is
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The corresponding sits oftheseaugmentedmatrices are allequivalent In to each other they share the same solution set

IE Fetisjen fajvaetjtpera.jo vixcan be changedinto

Replacement add a scalarmultiple of a row to another row
Scalingmultiply a row by a non oscalar
Interchange swap two rows

If the augmentedmatrices of two sits are row equivalent thenthe two sits are equivalent



An SLE can have
SLE is consistent
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such a row 00 0 α 10 is typical
for an inconsistent SLE

theyare the same line2 252 0 infinitelymanypoints2lines of intersectioninfinitelymanySolutions
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solution set in parametric form jij prees
ZIE basgitaristen Engage van we want

Note having a Zero does notnecessarily mean that there are
infinitelymany solutionsForexample Zij EnigeSEhas a



Let'sformalize the row reduction Gaussian elimination
algorithm

pivot leadingentry
leftmost nonzeroRowechelonformREF netuniquefor a matrix element in a row
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All entries below apivotare zero

It tellsyou

hekje TE heeft III REEËN is apivotcolumn
whether the solution isunique uniquenessquestionaretherefreevariables

FeestIEnnbEEEE.TKientmatrixhaveapivot
Reduced rowechelonformRREF uniquefor a matrix
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It tellsyou
the solution



Eempe Gaussian elimination algorithm
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